F29EC LFRAAYTS 2019465 16H
BFAUSR(BEE) BFAUSR(BEE)

JIEZ | No. K4 F—L4A <vhk IEfZ | No. K4 F—L% | EUFE
1 30 |E=#FT N EHEE 9.750 1 34 |HKHIKE 7L 9.600
2 41 [#HR BT =40 9.700 2 42 |hE H®| =4 9.575
3 42 |hE H®| Hr =40 9.650 3 9 |EM AH SEFIx 9.450
4 28 |NHE tE& ZEAE 9.600 4 4 _|#ER BE =4 9.350
5 34 |HKFHKE 7L 9.550 5 24 /MR R b 9.300
6 29 |EF MK EHEE 9.500 5 29 |TEH MK EHE 9.300
7 27 |MFEE Jiz] 9.450 7 18 |[HE AE EBEBRS 9.250
8 9 |EM BH SEFIE 9.400 7 35 |HO EE 7L 9.250
9 50 |5 fIE Fix 9.350 9 4 |FAR @A AL 9.150
10 | 15 |f&im [Edh R 3R 9.300 10 | 49 |SHBX Fix 9.050
11 8 |[H£MA EH INFFE 9.250 11 5 [{E4XK = FHER 8.950
12 | 16 |AH FX B3R 9.200 12 | 21 |%8H = b 8.900
12 | 36 |&H & N 9.200 12 | 31 [#AK % &/ 0 8.900
12 | 37 |Exk KB KELW 9.200 12 | 33 [#AK BE &/ 0 8.900
15 5 [fE4XK = FET 9.150 12 | 50 |E1E f1E Bix 8.900
15 | 35 |HO E§ 7L 9.150 16 [ 30 |Z=41 AN EHE 8.850
15 | 38 | K+t mER XEW 9.150 17 | 36 |&5H ZE=FE N 8.750
15 | 57 |#T B3 r—b 9.150 18 6 |[FH E/N &S 8.700
19 | 25 [KE & Hir 9.100 18 | 38 [K# RIB KELW 8.700
19 | 33 [#AK BE E/0 9.100 20 | 37 [Ek Kk KELW 8.650
21 | 24 [/M2E Bk A 9.050 21 15 48w ER R 3 8.550
22 | 18 [H%E W= EERS 9.000 21 | 32 [#AKE &/ 0 8.550
22 | 49 [E@A BEX FiE 9.000 23 | 51 [BFH ¥Ek ¥l 8.500
24 | 51 [{BH &% X 8.950 23 | 59 |[[FA =3 FER 8.500
24 | 58 [tk K i 8.950 25 | 22 |5 EEA JER 8.400
26 6 |#FHE/N EIEES 8.900 25 | 23 [{h& Y<& b 8.400
26 | 23 |[{h& Y<& B 8.900 27 | 57 [#ET 23l R—Fk 8.350
28 | 32 [aK = #/0 8.850 28 | 17 [#Aw @A AEEE 8.300
29 13 |% 2H A 8.800 28 19 |#AH 1D R 8.300
29 | 21 (%23 =k b 8.800 30 1 |FE BN AR 8.250
31 3 |BIR EXHH FET 8.700 31 3 [Aik EAEH IR 8.200
31 4 [#5K @A FET 8.700 31 16 [HEFT FX R 3 8.200
33 | 52 [=H Kih X 8.650 31 | 20 [-F 8 & b 8.200
34 | 17 [T @A KEER 8.600 31 | 27 [(F EE Vs 8.200
34 [ 19 [#&F O i 8.600 31 | 53 [fF K& ¥l 8.200
34 | 59 [BEA =X Fl{E R 8.600 31 | 56 [iB:% RERA r—b 8.200
37 | 47 [#l & 2 3—F 8.550 37 | 52 [EH Kih E Xt} 8.150
38 | 14 |=% A& HA 8.500 38 | 8 |AH INFiE 8.100
39 | 12 [M3H* E—ER Ha 8.450 38 | 45 |F5HA B =I5 8.100
40 2 A #HX FiaR 8.400 38 | 54 B =@ =2 8.100
40 | 31 [#aK 1% E/0 8.400 41 | 55 [FE K& r—k 8.050
40 | 40 [/ME HEAY FHER 8.400 42 | 43 |[{ER2 K ER RS 8.000
40 | 46 [0 FEFE = I 8.400 42 | 48 [[EH B H/ 21| 8.000
44 | 11 [ ONER Ha 8.300 44 | 40 [/NE BN PR 7.950
44 | 44 (B4~ A #REk RS 8.300 44 | 58 [#&#%E X8 L 7.950
46 | 20 [=F8 & b 8.250 46 7| XA X —_&EN 7.900
47 | 45 |&5H B = U5 8.200 47 | 25 | KE & Hir 7.850
48 | 56 |5 FEREA r—b 8.150 47 | 46 |80 EF = 15 7.850
49 | 26 [BF =3} Hir 8.100 49 | 28 [NA & EHB 7.800
49 | 48 [[mA H/AXJIK]  8.100 50 2 | A HA FEL 7.750
51 22 |58 EEA b 8.050 51 | 44 [E~ A #R3 RS 7.450
52 7 [KfE &K —=J 7.850 51 | 47 [#f1L & 23— 7.450
53 | 43 [{E4< K EFR RS 7.800 53 | 26 [EF &3 Hir 7.400




F2M T LFRANAYTS 2019465 16H
JIEZ | No. K4 F—L4A <vbk IEfZ | No. K4 F—L% | EUFE
54 | 53 [#F K& = 7.750 54 | 14 (&% HEX e 7.300
55 [ 10 |#&N IBF B 7.700 50 | 13 (A% =X e 6.350
56 | 54 |&% 2§ B 7.650 56 | 12 [FEH Z—ER e 6.100
57 1 |FE BN HE 7.600 57 | 11 [7E UNER Ha 5.750
58 | 55 [FE K% r—k 7.400 58 | 10 [ BF e 5.250

39 | K& A FHERR ZiE 39 | K &A FHER ZiE




